Simple Interest

Exercise-1

1. (@) Amount = Principal + Interest
T 1245 =% 1010 + Interest
= Interest=3 1245-% 1010=3 235
(b) Amount = Principal + Interest
! % 9928 = Principal + % 1256
—  Principal =% 9928 - %1256 =% 8672
v () Here, P=% 3210,1=5%

LA=P+I1 =?3210+—5—x %3210
100

_% 3010+ 32105

=% 3210 +3% 160.50 =¥ 3370.50
(d) Here, P= T 9640, 1=8%

8
JDA=P+I=F 9640 + — 964
100x? 640

79640+ 3 8 x 9640

=39640+% 771.20 = T 10411.20
2. Here, P=3 8250, I1=6 %

. A=P+1 =Z8m04 8
100><?’8250

_ 282504 ¢ 628250
100

, =X 8250 +% 495 =% 8745
T'hus, the total amount paid by Mahegh af
3. Here, P=%3600, A= X 5250

1 [=A-P = X 5250 - X 3600 = ¥ 1650
Thus, the interest Payable by Vandana is 7 1650
4. Here, A=7% 54,328, =% 4,750 |
P=A-]=
So, Mukta deposited

ter one year is¥ 8745

1543282 47502 49578
3 49,578, i
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) We know that, S, = lﬂi’_‘l

% Here, P =% 5000,

100 |
oo 300x8x1
>t T100 TV A i 4|
(1. PRAT_ 1200x10,3 |
(b} >4~ 00 100 — =% 360
oo DR _ 250001254
Ao T - TTTTTTT—— j
© 100 00— = ¥ 12500
o1 = PXRT _ 5040x9x7
@7 00 12x100 20460 (7 months = %year) |
| @ SL= PxRxT _ 43800x16x105 _ 105
T 365x100 < 2016 (105 days = 2 vean |
PxRxT _ 800x6x3 |
. S.I. = = = !
2 @) 100 100 T 14 |
# A=P+SIL= T 800+ 144 = T 944
b) sg - PXR¥T _ 2490x5x4 _ .
100 3x100
A=P+SI = T 2490 +% 166 = 2656
© s < DXRXT _ 6550x2.5%6 _ 5 g0n o
100

100 |

A= P+S.L =%6550 +T982.50 =¥ 7532.50

R=4%, T=4years

181 < PXRXT _ 5000x4x4 _zgop
100 100
Hence, Ramesh will get T 800 as interest. e
= 5 years
! Here, p - T 48000, R=8% per annum, T =3Y ?
SIL< PXRxT _ 48000x8%5 _%19200
. 1oo . - 100 , 200
i‘.I A=P+gr = 748000+ % 192007;05 ait7er 5 Yearé
| | : 6 ' 2
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3 R=6=%=—=9,
5 Here, P= 312000, 5P per annyy,

T

PxRxT 1 ZA()()()XEE’LZ S’eara

N SI B ass— S

d g =3 5460
100 2100

1 25

6. Here, P= T 21,000, R= 1250” ) 7(%) per annum,

8
T=8 months "5 year
_ 21000x25x8=?]750 .
2x100x12

. A=P+S.L =% 21000 + T 1750 =%22,750

Hence, Aditya will pay < 22,750 to clear his debt,

7 Case-I: Here, P=% 5000, R=5% per annum, T= 7 years
_ PxRXT _ 5000x5x7
100 100

= X 1750

S.IL.

Case-II; Here, P=% 5000, R=6% per annum, T =6 years

_ PxRxT _ 5000x6x6
100 100

il =3 1800

Hence, interest on ¥ 5000 for 6 years at 6% per annum is g
Exercise-3
100xS.I. 100 = 248

RxT 4x2 .
(b) p- 100 x S.1. _3 100 x 192 %600 ;
RxT 8x4
© P= lQO x S.1. _z 100 x 800 — % 4000
RxT 10x2
2. (a) R- 100 x S.1. _ 100 x 600 ~129%
PxT 2500 x 2
(b) R 10081 _100x1920 .
PxT 8000 x 3
©) R-= lgfgleﬁ _ 100 x 340 —10%
P 1700 x 2
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100% S.1. _ 1001728

@ TZ PxR  7200xg - oYears
100 x S']L 100 = 800 .4
(b) T= PxR 5000x4 years

100><S.] 10()x200()
@ T2 PR 10000x5 - 4 years

Mental Maths Corner
o) 2. () 3. (b)
Review Exercise
p=%30,000, A=%39,000, T=3 years
51.=A-P=%39,000 - 30,000 = 9,000
Thus, Sunidhi got ¥ 9,000 as interest.

_Here, P =%36000, R=10% per annum, T =

PxRxT 36000><10x8

L= 00 12x100 <2400

Hence, Mohan will pay the interest of Z 2400.

4. (d)

8 months 5 year

Here, P=% 18000, R = 9% per annum, T =2 years

5] = PxRxT _ 18000x?x2 _ 7 3040,
100 100

A=P+S.1. =% 18000 + ¥ 3240 = 21240
Hence, Mrs Bhasin will get back ¥ 21240.
P=%6500, S.I.=%2600, R=8% per annum
7. 100xS.I. 100 x 2600

PxR 65008
Thus, the required time is 5 years.
T=4 years, R=10% per annum, S.I.=%4800
P ]()U 0 xS, l _7 100 x 4800 712,000

R 10 % 4
‘US the Principal is ¥ 12,000.
22500, $1.=75400, T=4years

100
k<2051, 100 x 5400

=5 years

e - 6%
. P T o500 % a0
U5, the rate of interest is 6% per annum.
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